Time: 10 Minutes Paper Science 8 Total Marks: 25

1st Month, 2nd Week, 6th Day| Syllabus: Unit # 1, Revision Test Syllabus (Week-2)

Q.No.1 Encircle the correct answer from the following choices. (1x10=10)
Lo L S S p e S S5
LBl sikky

i. The predators in turn are prey to:

(a)|Primary carnivores KJ/»(}/K&/'/? (b)|Large carnivores I P
(c) [Herbivores K)/»Q/: (d)|Omnivores 609551

iii. Occurs when two or more individuals or populations attempt to use
the same resource of environment.

—ebn yu/u//&_/dwﬂwudd L Jol 2 el
(b)|Ecological balance /UdUil,

(a)|Competition

(c) [Ecological imbalance uj'?pwdyit (d)|None of these u.’.’/&fc;ufu'
iii. Overhunting may leads to an imbalance in the:

-‘LC‘:M&WUJ'?(J&J ............ L’/gﬁvya—.:u)ﬁ

(a)|Natural ecosystem (Lbﬂdyil.d/ﬁ (b)|[Food chain &5!

(c)|Food web ..4,»";" (d)[Botha &b Usvb sl a

iv. More domestic use of water, due to overpopulation, also contributes to the
pollution and decrease ______in water bodies.

-c"_l/!ufgb/uf‘ﬂ ............ uf/lud l/)'c'.u,d"ﬂ(f;’ffdlf*‘l}/b(dl,c_;)d/u’{?’tml

viii. Sulphur dioxide gas can causes: -c"_u"u-df( ............ u’f U/TJG/’J"
(a)|Breathing difficulty dnfou:&(f'v (b)|Pneumonia Q/
(c)|Lungs cancer /fgu,l,/,:gg (d)|All of these 2
ix. Theamountof____gasisdecreasesinplants by deforestation.
-gdwf'wd'_ ........... u"u»:‘c_u/bd:
(a) CO2 (b) co (c) SO2 (d) NO:
X. Change Manga forest is found in: :c‘;t'lg&&gﬁ?(mﬁb:
(a)lsindh  “z4~|(b)|Giligit uﬁ;,@ (c)[Punjab = 2|(d)|Kashmir uﬁ'ﬁy

(a)|Soft water L}&E‘L (b)|Hard waterdgdjlﬁi (c) [Fresh waterdgut‘ (d)|Simple waterdgu:v

-uijh:«ﬁufJ&W‘J-ﬂ/i ............

V. __ migrate for the search of food.

(a)|Birds < 4z|(b)(Animals leg (c)|Plants <y((d) Botha&bUb.sla

vi. Dueto__,theiceinthe polarregionand atthe mountains melts atagreaterrate.

-c‘;ﬁdf.g&,/uy:«;%u;}%mu;bu? c.-,.?}d/. ...........

=z P> v
(a)|Green house effect wuusy@/ (b)|Global warming V@/!:J)K
(c) |Photosysthesis VO #9|(d)|Deforestation U%Gdﬁ’

vii. Some gases present in the atmosphere trap a part of the heat reflected by
the earth causing increase in the atmospheric temperature this is called:
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(a)|Ecological imbalance uﬂ;’r 26 )7 | (b) [Photosynthesis O Py

(c)[Green house effect vﬁ%!u’ﬁg /f (d)|Migration Lﬁ"/:cll,

(2x6=12)- =iz A

Q.No.2. Write short answers.

(i) Define predator. <Q/by/7J/2,§4
(ii) What is ecological imbalance? ?La;i/l:’/c;uﬂ?rﬁdyik

(iii) Which layer in the atmosphere stops the ultraviolet rays coming from the sun
to the earth? fe "ufu/l,v:'d/bW’dbé.f/?uﬁjc;ézr:dufd//j‘;’u’#
(iv) What are the harmful effects of air pollutants? ?@Muﬁuuuuﬁégﬁ)f&w
S
-Q/Lyfd/ﬂggml
Q.No.3. Write long answer. (3)-u:‘{.«lﬁdfj
-Q/wu)LMJu@J')J}K

(v) Define migration.

(vi) Define overpopulation.

(i) Explain global warming in detail.




